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Section A is compulsory.
Attempt any five questions from Section B.

Section A
.. Attempt all -the questions :
(a) Differentiate between : 6
(/) Boot virus and Macro virus
(i) Trojan horse and Worms.
(b)) What do you mean by SOCKS server 9 2

() List the reasons for the failure of Windows Vista

Operating System. 2
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Why digital signature is essential to ensure authenticity
of e-record ? How digital signature are different from

electronic signature ? 3
What do you understand by IDS and IPS ? 4
Explain the following terms Cyber terrorism, Social
Engineering and Cyber Stalking. 6
What do you mean by risk appetite and risk
residual ? | 2
Section B
Explain any two types of substitution cipher with
example. 6
Use Transpositional cipher to encrypt the message

“Welcome to New home” with the following

transpositions. Consider block size of 1 byte : 4
85, T4, 652, 558, 451, 357, 256, 13

Which firewall works at network layer ? Briefly explain

its subnets. 6
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Explain the vulnerabilities that exist in the default
installation settings of Linux Operating system. 4

What are the major components of risk management and
how they are related ? 6
Hiow poblic, By (orplogvihy s diffivont fom private
key cryptography ? Which is more secure and
why ? 4
Explain CNSS security model in detail. 5
What are the Hat categories in which the hackers are
grouped ? 3
What do you understand by incident response
planning ? 2
Describe the four fundamental mechanisms of access
control system. 4
How does Denial-of-service attack work ? How DoS is

different from DDoS ? 4

What is Man-in-the-Middle attack 2 5/
PTO.
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How laws are different from policies ? Explain different

types of laws. 4

What are the provisions and penalties under section

65 of IT Act ? 3

What is the punishment for publishing or transmitting

obscene material in electronic form ? - 3

Describe the crimes related to intellectual property

rights. 3

Explain section 43 and its penalties and compensation

under ITAA-2008. 4

“Ravi created a software. His friend visited his house
and make alteration in the source code. His friend also
deleted few files”. Under which section Ravi can file

his complaint ? Explain. 3
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What do you understand by the term ‘Peace’?

South African Truth and Reconciliation Commission
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Instructions for Candidates

L.

Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt five questions in all.

3. Each question carries 15 marks.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.
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k.

What do you understand by food security? Critically examine
the food management system in India.

e G ¥ T R WE T ? WG ¥ @igd TS o w6
AT TS0 Y |

Discuss, in detail, the three pillars that are essential for
modernizing Indian agriculture. What are the policies

required by the government to strengthen them?

R Hi & sy @ e srewme i W W frew )
o A | I ASEE HE D O WER gW AEwE A w®n
g7

Analyzing the reasons for low agricultural productivity in

India, discuss the measures required to improve it.

W ¥ F IEEET F SO H Ao w7 g, W quR
% v s s W =t

Explain the trends of industrial development in India since
independence. What have been the important features of

Indian industrial policy over the years?

R B WE A R A S REw B ) T awe | a6
¥ W stafe A 9w fdva) wan @ 7

4891 3

Discuss the problems of small scale industries in India.
Critically analyse the Indian government’s policy for the

small scale industrial sector.

WA A WY AR W wmensl W owe ow ) 8RR v W
AARE &7 B Rr e TR 9 R w1 aeEEeE A
ol

What have been the main features of India’s Foreign Trade
Policy (FTP) from early 2000s to the present? What should
be the features of the new FTP, aimed at improving the

‘ease of doing business’ in India?

2000 & IWE B FEIAW A A a0 9% wRa & Ry =mr
A (TR A ) it T fEvE] w@r ¥ 7 we ¥ 2R we
FEET H GUR I & I ¥ AQ U6 AR w2 fdva B
=Ry ?

Analyse the trends of Foreign Direct Investment (FDI) in
India. Also discuss the FDI policy and its importance in
India.

I # gee el e (vwdas) & v o oo Y | sRa
¥ vwdamE Ay o TR e AW f == W)

P.T.Q,
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8. Write short notes on any two of the following :

e o ¥ foeelt oft &t W g ool ford

(a) Trade policy reforms in India after 1991
1991 & €I WRA # IR Afd GUR

(b) Indian government’s strategy_ for irrigation
faord & o wiwg wer &t Af

(¢) Reasons for poor performance of land reforms in India
W ¥ 9 gaN & e YeEE @ &R

(d) Labour regulation in India

URd & o9 g

(3300)
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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt of
this question paper.

2. Answer any three questions from Part A and any two question
from Part B.
All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

=l @ fow Fgm

1 Y- & fed § I Ry e Rl we s s
fofag -

2. oW I H ¥ =S A wEEl I I W qA W A A ¥ e QA
FE & IR Qo |

3. @sft vl & 3w T

4, TE UIT-UF & I e A B fRd ven s F diforg, e |t

IR T WA U B BT =R |
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2

3.

Discuss major fiscal

patticula
equity in the distribution of income.

oA q9l

Section A

functions of the public sector with

r emphasis on efficiency in resource allocation and

(15)

Qﬁﬂﬂwm%uﬁ%ﬂauﬂmnmﬁ%&

aﬁﬁmﬂﬁ%ﬂﬂﬂﬁﬁ%%ﬁmﬂﬂzﬂ
Eodl

Distinguish between public goods and private goods. 1,

person and one public goods than using

ibrium amount of public

(15)

there are two
suitable diagram determine the equil

goods?
ﬂ%mﬂmmﬂﬂwﬂmﬂ%%_ﬂﬁﬂﬂ,ﬂmwy%mﬁ
%_mﬂw.@ﬂmﬂﬂmﬁ%ﬂ%%mﬂ
mwammﬂaﬂwnﬂs@ﬂmﬁmm_

Distinguish between voﬁ\rﬁw and

ible remedial measures could

Define Externalities.

negative externalities. What poss

be taken to reduce negative externalities? In this context,

n tax to correct the negative

(15)

discuss the policy of using pigovia

externality problem.

4892 3

qEA3 W qReflg | TN 9 HOTeHe Sl @
T FW F | TR qRAS W AN @ v w e
IUE FT T 27 oT@ WS N TS St @ @
A B T D g AT = R A D IET @
Eadl

.meocmm the concepts of economic incidence, statutory
:..Bagoo and shifting of a tax. Explain with the help of
admmBBm. the role of elasticity of demand and supply in
distribution of burden of a product tax between buyers and

sellers. (15)

e e, dumRes wE 9w @R & fagwe @ sEuRen @it
R Y | el qU AR ® A" IEe W R IR & R
Fam 3 o A A R R R wEEE & e
ol

Write short notes on any two :—

(a) Asymmetric information and market failure

(b) First fundamental theorem of welfare economics

(¢) Coase theorem (7.5,7.5)

PO,



Section B

6. (a) Given the following informations :
C=100+.8 Y, Y,=Y-T
I =100
G = 100

T =100
(i) Calculate equilibrium level of income.

(i) Find government expenditure multiplier and
equilibrium level of income if government
expenditure increases by 50.

(iif) Find tax multiplier and equilibrium level of income
if tax decreases by 50. (2:3;3)

4892 S

(b) What are the three important tools that a central

bank can use to control money supply? Briefly
Discuss. (7)
freafofee @ € = & sEER

=100+ 8Y,, ¥Yy= Y=T

[ =100

G =100

T = 100

(i) 3m@ & Age W A W |

(i) R awerd =@ 50 @ Fga1 € W FWHN =G YT TN
T H AIAT TR A W |

(iii) @l =X =1 50 ¥ wer Rar W@ A T I T IJE
T Ao W AT HY |

(@) 7= off = Pafa & & fow a=in 9 79 9 8 9
W@ IUA F ITEN H GHT B 7 e W

Discuss the recommendations of Fourteenth Finance
commission with regard to measures to supplement
the resources available to the states to support the Local
Bodies. (15)

PEO,
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I S o GeEdal B o Ued & U IUes GEEEl Sl Se
* IURT B Gew A died faa sman & RwRa 6 sarem a

8. What are the key features of Goods and Services Tax?
How does GST satisfy Fiscal Autonomy and Harmonization?

(15)

o 9 @ o A g fAEvan w2 ! aewEqiar 9 OsiehiiE
WAl W qeg d A T DY GG w8 7

(200)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt five questions in all.

All questions carry 15 marks.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.
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. 3 yE-TE @ e € e Ry v FuiRa e W s s
forfag |

2. Toredl dier weel & IR ARA |
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TF W ® 15 Hh 7 |

39 UeT -9 K IR A a1 B R v wmwr ¥ SfSe, afmT o
IR T A TH B BT ART |

Examine the performance of agricultural sector in India since
independence. What policy changes are needed to achieve
higher growth in agriculture?

HOE & 9 ¥ ARG A PN & b yedw ) W w1 N
¥ I fAwm & T w@ @ P T Y oRedw & sz
27

Explain different measures of land reforms undertaken by
the government in India. Examine the impact of land reforms
in India.

WY &R 30 e W 9 gl & Rt Swm s | wwme
¥ uf gl @ wwE @ o a

What are the causes of low agricultural productivity in India?
Give suggestions for increasing the Indian agricultural
productivity.

WA ¥ 9 P ITGHT D HT HR B P ARG F I
TN & fow gam 2

4943 3

Discuss the efficient working (role) of the India’s agricultural
price policy. Briefly explain new challenges faced by
agricultural price policy in India. ‘

RS PN A AT ® R A () w o e 9Ra
# I A A D A I AR A AR ge ¥ avie
Eadl

Give an overview of trends and patterns of industrial growth
in India since 1990. What are the challenges arising from

government policies in India?

1990 & 9 ¥ WRA A %&Eﬂ.wwadwdﬂm.%uﬂﬂﬁmﬂ
FEAET ¥ | WRG ¥ WER AR A I A I R =
27

Analyse the trends in Foreign Direct Investment (FDI) inflows
in India. What is the role of government policy in attracting

FDI inflows for development?

o A et vy Few (vwdend) wae ¥ e @ fawdum
| Rem & R vediers var 9 aelie w0 ¥ wEd SR

e w=r ? 7

What are the reasons of growing trade imbalances in India?
What strategic steps can be taken to correct them?

P.I.0.
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VR ¥ WY WNR FEIET @ RO ¥ 7 IR Ry @ R
T gERe Hed ISW ST FFd © 7

8. Write short nbtes on any two of the following :
e A 3 &5 o @t W ooy Roht ol
(a) Government of India’s irrigation strategy
e WER W R AR
(b) Privatization — The Indian experience
Aol - wRem  3FvE

(c) India’s foreign trade policy in recent years

TE & 98 ¥ ¥R & Ry =mr S

(d) Challenges faced by apparel and leather sector in India

wiE ¥ R o WR B &w ¥ oy @ R

(1600)
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(39 yA-19 & fhod & o fRu o fauife wm w s sgwaes fafae 1)

Note :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.

T YYT-9F 1 SR s Or o<t et uw

T difoe; ofeT 9t SO 1 9eAH T § e

=Med |

Answer any three questions from part A and

feoqott

any (wo questions from part B.
All questions carry equal marks.
aqrr ‘e’ 7 9 fE dF sl & S Sifsu
am ‘e’ # f el @ oyl & s s
[t gl & oE e g

P.T.O.
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PART-A (9T ‘31)
Why is it that a public sector is required ? Explain the
determinants of the distribution of income and wealth in the

absence of policy adjustments. 15

AT & 61 EvIgkdl ¥ el § 7 A
AN % SAgafefd § wefd 9 9™ & famw
& fule Tl = =rem s

What do you mean by market failure ? What are the various
causes that may lead to market failure ? 15
R fawerar 9 e = &l § 2 SR fawerarn
& faf= #ro 7 § 2

Explain‘the Coase theorem with the help of diagram ? What

are its limitations ? 15
fa =1 geEar 9 FiS YHT &1 SR i | SRt
dad g § 2

- Explain how subsidy for not polluting helps in achieving the

socially desirable level of output ? What are the problems

associated with it ? 15

r20 ) 4944

= wiwE fF F9 wguw 7 had & fay s
FT GEISEH AETTF W WW FE B AU STEH
WEEE BRI ® 7 THY Wi W #® % ?
Distinguish between ‘unit tax’ and ‘advalorem tax® ? Use
diagram to show their effect on equilibrium price and output,
if the tax was imposed on the buyer ? 15
‘T w9 ‘Y@ w & A" A AR FaRu|
A W W wRE W oA few Ww @ e
Y9E 1 Ggad ®Ad 9 ST W fEE g qwize
PART-B (WTT ‘)

(@) Define discretionary fiscal policy ? What is balanced

budget ? Explain the balanced budget multiplier ? 9

() Given the following information about an economy :

C = 100 + 0.50Yd;, Yd = ¥ — T

I = 100

Il

G = 200

T =050

(/) Find the equilibrium level of Income.

(i) What is the value of government spending

multiplier ? 33

P.T.O.
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(37) foawEia wsreg FifT = aRwfom =33
g ae wm ¥ 7 wgfm wwe miw =

& FHIfo |

(9) T s & fawm § frefafen gem o

TR

C=100+ 0.50Yd; Yd =Y - T

I =100

G = 200

T = 50

() T F HPH WX B FE wifw
() TER o s T oqed wm ¥ 2

Explain the views of Union government and state government

in regard to the GST as per the fourteenth finance commission

report. 5

%ﬁmﬂdg%%%ém@mg
HH T W T W 7 A R B
® = S|

4944

( 5 ) 4944

: 35,5
Write short notes on any three :

(i) Fiscal deficit
(ii)  Inter-state council

(7if)  Vertical balance and horizontal balance

(v) GST council.
et W W e o Tt
() TSEREE  HE

(i)~ HAT-TSF  HoE

(i) SR EHgem 9 afdw wged
(v) 9% I WA HL GHEL
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Unique Paper'Code

Name of the Pa

Do you agree that the chaptcr ‘I‘v‘.[ambcn alias Bibijaan’ is the writer’s attemptyto
address the problem of communal hatred in the soc1ety"

(iv)  Discuss the reactions of the other women to the news of the brutal assault on
| Bharati, as a comment on patriarchy. «

3. Read the passage given below and answer the guestions that follow: 5%x2=10



1

Eighteen yvears of continuous cricket has not changed Harbhajan Singh as a person. He
may have gained a little weight, lost some strands of hair and greyed his beard a bit but
his sense of humour is intact. At an event in the capital, Harbhajan, with his head fully
covered with a black cloth, wearing a dark T-shirt and the word “faith’ tattooed on his
right fist, looks more hke .a fashionista—a far cry from the belligerent Turbanator on the
pitch.

Fazmly is hIS first prio s 1ese days and he wants his fans and cricket Crazy pubhc to

ii. The murderer (couldn’tf Wouidn 19) sleep and confessed hIS crime.

1, Instead of purchasing a camera you, (should have/ would have)
purchased a camera phone. ,'
1. If I were a king, [ (will/ would) release all prisoners of war.

V. [f the dog starts barking, we (will! would) run away.




(b) Fill in the blanks with the correct opiion chosen from those given m brackets after

each blank: 5
i. I completed my homework ~ (while/ meanwhile) my roommate was sleeping.
ii. He wentto thecasino ___ * _ (yet/ even though) his father had warned him against

s

eges?
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

Attempt Five questions in all.
All questions carry equal marks.
Question No. 1 is compulsory,

Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

B @ fog fdw

1 W EE-E S e €W Ry e Ruife s w s s
PR

2. W U WET A |

ot v & S '

W w1 Ffard 2

T WE-9F & IR JAdon a1 B fF v ww ¥ e, AT wh
I W WL T B B R |

W oA W N

2 oa @

P.T.O.
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1. Write shoft answer on any two of the following: 3. Examine the characteristic features of Sanskrit kavya

literature.
el o w wftem oot =
deFa e Aieer A Rl w1 owdew w

(a) Ajanta paintings
4. Highlight the contribution of Amir Khusrau in the growth of

Persian literature in India.
(b) Mirza Ghalib ) i & it 2 A N st e =
fastt e wE | |
(¢) Ritusamhara ‘ 5. Highlight the significance of Bhakti and Sufi music in the
. Indian music tradition.
fegaer

e e e ¥ wRe R g @i & wew w e
(d) Puppet Theatre =

HIYA AT

6. Write an essay on Indian temple architecture.

(e) Raja Ravi Varma T, !
. YT #iRR W @ SW vw Feg e
o W L

' ' 7. Discuss the characteristic features of Mughal paintings.

2. What do you understand by culture? Discuss the various w Rrawer =t @ Ageara & =t o#Y

forms of culture.

8. How does the architecture of Lutyen’s Delhi represent a

v ¥ I W wEw § 7 el B ARy wwd @ oo
blend of Western and Indian styles?

ol
P.T.O.
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qieat &t Relt =1 wver fve yer ¥ wRed vd wwda Ey
w1 gisr § 7

9. What is the significance of fasts and festivals in India?

WA W 99 U9 ARl 1 w1 HEwq 2 7 :

(1400)
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Instructions for Candidates

I

Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt any four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

sl ® fog Bl

1 WS- & e & SR Ry W HuiRa e ) e SawEs
forfeag o

2. T8l TR weAl & IR AR/ |

3 Aty @ 3 W B |

4. =T UST-9F F IR JAon A1 B FA v s - Gfvrg, wifeeT @it

IR T AEAN T B 81 e |
P.L.O.
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Make a critical estimate of the causes of the French

Revolution.
W # FT D FRON wT SAEAE AT W
Review the reforms of Napoleon as First consul.

TIH HEA B §T A AN T Y W guR W Aot W |

What were the causes of the French Revolution of 18487

1848 To S WERN WY & T FRO F ?

Describe the factors that led to the Italian unification.

w&%a&ﬂs%mﬂﬁm@.ﬁﬂfﬁ_.

Discuss the role of Bismark in the unification of Germany.

T @ v ¥ e @ qfer @ oaoiE )

Describe the social and economic changes in Europe during
1780 to 1945.

AT ¥ 1780 o ¥ 1945 Fo B 9 IR AwRrE TE i wEerEl

mﬂaﬂ#ﬂmw_

4902 3

7.

10.

Discuss the causes of the First World War and how was it

influenced by imperialistic interests?

T favege & FROT H TR ) UF 98 e SigHatees B 9
gfae o 7

How far is it correct to say that the Treaty of Versailles
sowed the seeds of the World War II?

g HEl FEl 9 g @ O qeg # G 7 i fvage @ 9w
| ?

Analyse the causes of the rise of Fascism/Nazism in

Europe.

HidETE /ANTEE ® g7 ¥ 399 B o FwRe A, fFEewn w

‘

Write short notes on any of the two:
(i) Bismark

(i) The w.oH.mwm: policy of Hitler

(iii) League of Nations

(iv) Mazzini

P.T.Q.
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt any five questions.

3. All questions carry equal marks,

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

B & fag Ew

1 Y- & fed 8 o Ry v FuiRa e W suer s
forRag |

2. sl ura weAl & SR QR/ |

3 Ot uel & 3 W B |

4. I WET-US 6 IR ol A1 B ARG v W A AR, e /s

IR T WIAH Ueh B BIAT W8T |
P.T.O.
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Briefly discuss the various stages of the French Revolution
that broke out in 1789.

1789 ¥ YRS B al B Fif & Al won & aftra e
el

Do you agree with the view that Napoleon Bonaparte’s
foreign policy was determined to establish France as the

greatest power in Europe?

T AT M FHIYT F GEAG B W Adiferdd e st few e
HE H QAT H AEW AT F w9 H g we & fog g & ?

‘The Revolution of 1848 saw the dominance of socialist

elements’. Comment.

1848 T FIT F AR T W YU RErE gsd 87 1 e
FIRW |

Describe the various phases of the Italian Unification in

nineteenth century Europe.

IEG 96 AT F §Y I B TS & fAfT TOn & quie
Eadl

4954 S

Is it fair to say that the Unification of Germany would not
have been possible without Bismarck?

T U8 FHeAl ~AEETd 2 o e & 99 s @ uEhier 9y
qEl o1 ?

How did the socio-economic changes from the second half
of the nineteenth century to early twentieth century start
determining the international relations during this period?

IR T H I ¥ A Gl 98 & R | iR g
T AU e, TR YR 99 SR A B A o - e
IRad W menRa ¥ ?

‘Though the murder of Archduke Ferdinand sparked off
World War I in Europe, yet the real causes were more

deep-seated’. Discuss.

“Bieieh g RIS W B WoM fave ge & forg Rewies wfew
T g g2 & Twis R e T A7 | mwen il |

Analyze the rise and growth of either Nazism in Germany
or Fascism in Italy.

ﬂ&&w% 3UET TEon ¥ FEEE & Iy IR AE o wien
HIRY |
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9. ‘The second World War happened in a particular historical

context’. Describe.

‘ﬁ@uﬁwwﬁﬁﬁq%ﬁmﬁm#ﬁﬁg&n’laﬁ#aﬁﬁﬂl

10. Write short notes on any two of the following :—
el @t w aftrm ool forar : -

(a) Role of ideas in French Revolution

WG w ¥ R A

(b) Kulturkampf

Feghen
(¢) Karl Marx

HT WG

(d) Imperialism

LIRS EI

(4200)
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Roll No.

S. No. of Question Paper : 5334

Unique Paper Code . 234657 H
Nam;: of the I;"-ap_f:r o :_-Iﬁfﬁrm-ation Security

Name of the Course - B.A. Prog. Discipline Course (CA-3B)
Semester Y |

Duration : 3 Hours Maximum Marks : 45

(Write your Roll No. on the top immediately on receipl of this question paper.)
The paper has two Sections. A/l questions in ‘Section ‘A’ are compulsory.
Attmept any three questions from ‘Section B’.

Parts of a question must be answered together.

Section A
1 (@) Define Information System. List the names of each
component of Information System. 2

(b) List any two responsibilities of communities of interest

in an organization. 2

(¢)  What are password attacks, dictionary attacks and timing

attacks on a controlled system? 3

P10
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(a)

(b

(a)

(&)

(a)

(2) 5334

How Access control can be achieved into a trusted area
. :
of the organization ? 2

What are the three general causcs of unethical and illegal

behavior of Information security ? 3

Differentiate between Asymmetric encryption and

Symmetric encryption. 3

Section B

Briefly describe any five layers of security adapted by

any organization to protect its operations. 5

Describe any five critical characteristics of information with

respect to security. 3
Explain Intellectual property (1P} with an example. 5

What is malicious code ? Explain the terms Bots, Spyware

and Adware. 5

Explain all required criterias for a policy to become

enforceable in an organization. A

What is risk identification ? Describe the components of

risk identification. )

Discuss the various generations of firewall technology. 5

5534

5334

—~
Ll
—t
(¥

()  What is Steganography ? How does it work to. store

images ? 5
Write short notes on any five : 10
{@)- Digital Signature
(b)  Asset
(¢)  Pharming
() Accountability
()  Spoofing
() Cryptosystem
(g) Mail Bombing.

3 100
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Find the

distribution.

G s

i

g random variables with.
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Find the mode

Write any three proper

perti

X ~ N (3.4), then find _ _
© Given P(Z>1)=1587 and P(z>
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3

standard Normal var
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[This question paper contains 8 printed pages|]

Your Roll No. ) et DTN e T i

Sl. No. of Q. Paper : 9562 HC

Unique Paper Code : 62353606

Name of the Course : B.A. (Programme) :
Mathematics- SEC

Name of the Paper : Transportation and
Network Flow Problems

Semester SpVIL

Time : 3 Hours Maximum Marks : 55

Instructions for Candidates :
(a) Write your Roll No. on the top immediately
on receipt of this question paper.
(b) This question paper has FOUR questions
in all.
(c) All questions are compulsory.

1. Three electric power plants with capacities of
20, 35 and 20 million kWh supply electricity
to three cities. The maximum demands at
the three cities are estimated at 25, 30 and
20 million kWh. The price per million kWh at
the three cities is given in Table

B,
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City

1 2 3
1 | $500 $600 $300
Plant 2 | $220 $200 $250
3 | $400 $380 $350

The utility company wishes to determine the
most economical plan for the distribution.
Formulate the model as a transportation

model.

5

2. Attempt any FIVE parts from the following

(i) Compare the initial basic

feasible

solutions obtained by the Northwest-
Corner method AND Least-Cost method
for the following transportation problem

3+3=6
Destination Supply
Source 10 15 27 14 200
16 10 44 11 300
20 14 16 i 400

Demand 200 225 275 200

(ii) Five men are available to do five different
jobs. From past records, the time (in
hours) that each man takes to do each

2

1460

1000

. . ) . 9562
job is known and given in the following

table. Find the assignment of men to jobs
that will minimize the total time taken.

6

Men

A BrCc B E
9 11 14 11 7
&S £ e Sl [T
12 183 6 8 8
119 10 12 9
w2 14 10 I 2|

Jobs

U WK

(i) The network in figure shows the routes
for shipping cars from three plants
(nodes: 1, 2 iand '8)  to three
dealers (nodes 6 to 8) by way of two
distribution centers (nodes 4 and S).
The shipping costs per car (in $100) all
shown on the arcs.

1100
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(a) Identify pure supply nodes, pure demand
nodes, transshipment nodes and buffer
amount.

(b) Only develop the corresponding
transshipment model table. 2+4=6

(iv) Draw the Network defined by
N ={1234586)
A ={(12),(13),(16),(23),(25).(45).(46).(56))
Also determine (a) a path (b) a cycle (c) a
tree (d) a spanning tree 6
(v) Midwest TV Cable Company is in the
process of providing cable service to five
new housing development areas. Figure
1 depicts possible TV linkages among the

five areas. The cable miles are shown on
each arc. Determine the most economical

cable network starting at node 2. 6

(vi)

9562

The activities associated with a certain

project are given below

2+1+3=6
Duration
Activity Predecessors  (Week)
A: <= 2
B: == )
C: A,B 4
D A,B 7
K B 2
F: C 3
G D 4
ki F,G 6
I: F,G 5
J: E,H 3
K: I,J 2

(a) Develop the associated network for the

project.

PO
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(b) Find the minimum time of completion of
the project.

() Determine the critical path and critical
activities for the project network.

3. Consider the transportation model in the
given table

Destination Supply

$10 $4 $2 8
Source | $2 $3 %4 5

$1 _$2 $0 6
Demand 7 6 6

(a) Use the Vogel Approximation Method
(VAM) to find a starting solution.

(b) Hence find the optimal solution by the
method of the multipliers.

5+5=10

9562

4. Attempt any ONE from the following
(i) For the network given in the following

figure, the distances (in miles) are given
on the arcs. Arc (3, 4) is directional, so
that no traffic is allowed from node 4 to
node 3. List of all the other arcs allow two
way traffic. Use Floyd’s algorithm to
determine the shortest route between
5x2=10

(a) node 5 to node 2

(b) node 1 to node 4

(c) node 2 to node 3

(d) node 3 to node 5

(e) node 1 to node 5

8 6

oMl

(ii) Use Dijkstra’s algorithm to determine the
shortest path
(a) From node 1 to 5

7 PO,
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(b) From node 2 to 7 of the network given
in the following figure : 6+4=10

8 700
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Your Roll No. T ——

Sl. No. of Q. Paper : 9650 HC
Unique Paper Code :62357602

Name of the Course : B.A.(Programme)
Mathematics : DSE-4

Name of the Paper : Numerical Analysis
Semester : VI

Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :

(é] Write your Roll No. on the top immediately
on receipt of this question paper.

(b) All six questions are compulsory.
(c) Attempt any two parts from each question.

(d) Use of non-programmable scientific
calculator is allowed.

1.(a) Perform three iterations of Secant method
to obtain a root of the equation 6

x=T7=0
with initial approximation Xy = 2y X =3

P.T.Q
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(b) Perform four iterations of bisection method

2. (a)

to obtain the root of the equation

X’ =3x* ~0.09x+027 = ¢ 6
in the interval [(,] ].

Perform two iterations of Newton’s method
to solve the non-linear system of €quations

6
.Hw.u\+vxu =10
2

Xy =x?=3

with initial approximation (%0:3) = (0.8,2.2),

(b) Perform three iterations of Régula Falsj

method to find the Toot of the equation
J(x)=x*-2_9¢ 6
in the interval[] 7].

9650

(c) Perform three iterations of Newton-

Raphson method to obtain the cube root

of 17 with initial approximation Xgi=2.
6

3. (a) Find the inverse of the following matrix

using the Gauss Jordan method :
6.5

(b) Solve the tridiagonal system AY —p by
using Gauss- Thomas algorithm.

X 10
¥| =| 17
22

W O

1 2
1 3
0 3

—
o=
N

6.5

3 P.T.O.
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(¢) For the qu:oégm System of equations:

6.5
10x+4y—-2-=1>

x=10y—-z=_10
5X+2y—10z = -3

() Show that Jacobi iteration scheme

converges.

(i) Perform three iterations of J acobi iteration

scheme Starting with initial vector
(x,y,2z) = (0,0,0) .

4. (a) For the following data, obtain the Gregory -
Newton backward difference - pPolynomial.
X 0.1 0.2 0.3 0.4 0.5
flx) 1.40 1.56  1.76 200 2.28

Also find the approximate value of f at
x=025. 6

9650

(b) Prove the following :

1
1 —s2?

LT A e
(c) The function f(x)=sin(x)is defined o
[1,3]. Find Lagrange interpolating linear
polynomial on intervals [1, 2] and [2,

i f
3]. Hence find the approximate value o

Fsyand £(2.5). 6
5. (a) The following data for the function f(x)=x*
is given (6.9)
X 0.4 0.6 0.8
f(x) 0.0256 0.1296 0.4096

Find £(0.8) and £"(0.8) using quadratic

interpolation.

5 B0



2
(b) Find integral of = ._.m-.q 4 using Simpson’s
0

rule and Trapezoidal rule. i (6.5)

%_ dx

(c) Evaluate Tw

using composite
Trapezoidal E_m_ and Romberg integration

with j—1and =172 odq. 6.5

6. (a) Employ the classical fourth order RK
method to integrate ¥ =4e*¥ — 0.5y,
»(0)=2 from ;- ¢ to 1 using a step size of 1.

6.5

(b) Apply Euler’s method to approximate the

solution of
.H\H.H.T.u\u .ﬁﬁcv”w‘ 6.5

and calculate we by using h=0.5.

6

9650

(c) Apply finite difference method (second
order) to solve the given problem :
. 6.5

y'=y+x, y0)=0, y(1)=0,

with :n_\_h.
&

7 000



This question paper contains 3 printed pages.
: ~ Your RDH NO. niisicsinrmerssisanmunsosnannnse

S1. No. of Ques. Paper : 4715 - - HC

Unique Paper Code  : 62323601 ‘

Name of Paper : Conflict and Peace Building

Name of Course : B.A. (Prog.) Political Science :
- CBCS-SEC

Semester : VI

Duration - : 3 hours

Maximum Marks : 75

(Write your Roll No. on the top immediately
~ on receipt of this question paper.) -
(57 Tv-uT & fied @ W &3 m Fraffa
I wmaﬂmmﬂf) :

NoTE:— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.

feorui:— mwmmsmaﬂa?mféz?ﬁﬂ#@
.w#ﬁﬁzéﬁﬂwmwwwfﬁ
g feT

. Attempt any four questions.
All questions carry equal marks.
frt am T % W AT
@ g HE AT

1. Explain the difference between conflict resolution and
conflict transformation. -

B T.O.
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dud gy Sk d@ud wURwr § e @t S

Hfg |

- What is peace building? Discuss the roles of various
factors and agencies in peace building.

wiifs Ftor s 37 wifs frafor & fafwr FRa o
weel & v @ aof Fifag )

- Why have ethnic and religious conflicts gained salience
in post-cold war era?

IR WA qg F ¥ woery ok it wud @@ w9
2?2

. Discuss the various dimensions of conflict with special
emphasis on gender based conflicts.

@ﬂﬁmﬂdﬂﬁwgﬂamawﬂ,ﬂa

ﬁ.ﬁ&ﬁm&uﬂ@m_

. Discuss the typology of conflict with reference to the
sites of conflicts.

gud & affetor &t sTed Wud % Wl o Hed |
ShifeIg |

. Examine negotiation as a technique.of conflict resolu-
tion.

3 : 47s

ggﬂ&ﬁmﬂﬂw_ﬂmﬁ%ﬂﬂﬂ&

faa=mr ifsa |

. Discuss the relevance of Gandhian ideas in the field of-

conflict resolution and transformation.

dod gurEE R ®URw & &9 ° Tigh & faEw &
Hexd &t faa=ar e |

. Write short notes on any two of the following:

(a) Track I Diplomacy

(b) Mediation

(c) Ideology and Conflicts

(d) Structural Violence.

Frerfeafer ¥ & fidl & W afie feomit g
(a) o At E TRl

(b) AEEIAT

(c) foamemr st wed

(d) HeEATHS fdam |
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Your Roll NoO..ccoevversoeses

Sr. No. of Question Paper : 4912 | HC

Unique Paper Code . 62327601 |

Name of the Paper : Understanding Globalisation

Name of the Course : B.A. (Prog.) Political Science
CBCS - DSE

Semester 4 |

Duration : 3 Hours | Maximum Marks : 75

g ;3 "ue quiteR ; 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt any four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

= ® o FEw

1 39 WEE-UE & fed 8 oW Ry Y FuiiRa e ) A SEia
forftaw |

2. T=el oIk 99 & IR G |

3 aeft gl & 3w 9HT R |

4. TG YIT-TF 1 IR AUl a1 BE fhd van s o Qe afens asit

IR T A T BT R |

P.T.0.
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Define globalization. Discuss its consequences on state

sovereignty.

wﬂﬁﬂiﬂ@%ﬂ%@fdﬂ%%ﬁﬂ%%%
e i |

Discuss the social and cultural dimension of globalization.

JTAET ® WIS R wEFaE smaE @ R iR

Do you agree that the role of the United Nations has
become more challenging in the era of globalization? Give
reason for your answer.

T AT GEAE § & dwdieww & gw ¥ ugEa ac o i st
T B M 2?7 Fu I # i SR

Critically analyse the major issues in World Trade

Organization.

fRrq =mR dTeT ¥ WM T g w1 AT S
Y |

“In the era of globalization, environmental issues are not
state specific, rather they are global in dimension.” Do you
agree with the above statement? Give reasons.

4912 3

awﬂﬁsmwwawﬂﬂﬁwﬂ%ﬂﬂl%@mﬂ.%wwﬁ
JAM U FX TS B |7 FT T I HUT ¥ HeAd § 7 g
HIT |

Has globalization addressed the issues of poverty and
inequality? Give arguments for your answer.

T AT A TG R A @ T2 R waee fomar 7 7 s
IR A e F T AR

Is globalization responsible for international terrorism? Give
suitable justification for your answer.

F AT FIOET Sdware & forg Rder ? 2 s we @
sifered =t wega FIR |

Write short notes on any two of the following :
fFraffae % @ 5l &t w gfe Roh forfw
(a) Technological dimension of globalization

AT H TR I

(b) Role of Security Council of United Nations

TIFT U Y T OGS URug T
P60
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(c) Bio-Diversity
Ste - fafaera
) G-77

St -77

(4500)
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Your Roll No.
Sl. No. of Q. Paper

Unique Paper Code

Name of the Course

Name of the Paper

Semester

Time : 3 Hours

L
........................

: 4913 HC
: 62327602

: B.A.(Porgramme)

Political Science
CBCS(DSE)

: Democracy and

Governance

s VI

Maximum Marks : 75

Instructions for Candidates :

Rl &% fm FEsr

(a) Write your Roll No. on the top immediately
on receipt of this question paper.

FH UT-9 B U< 81 W IR S 9% 879

e Fex ford |

(b) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.

T U-UF T IAY SAASH a1 BN R s
AT H EiTe, | 9t ST o 8 |WmeT °

B+ aifeu |

P.T.O.
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- (¢) Attempt any four questions.

el =X g5t & SIme |
(d) All questions carry equal marks.

9 99 & ofp gHe

Discuss the role and functions of Parliament
in the Indian Democracy.

TR S a6 qfee ud mEt o
fera=mr s |

What is Judicial Activism ? Highlight its role
and significance in the Indian Democracy.
S Gihaar T B ? 9Ny wieds # sae
e T JEar 9¥ SR S |

Examine the Hboﬁm of Indian Federalism.
Analyze the idea of co-operative federalism in
the context of India.

AR dHare & @Ol T gOeer a5 | S
el # wegreie duaw 3 fErR @ e
HITeTT |

Critically examine the role of institutions in
policy making.

sty ferator & et @ sfte @ STITETHS
gdierer ST |

4913

Analyse the role of farmers’ associations in the
present context.

aoHe Hed ¥ pues GuEl @ 9frmr & Redwer
HIfTT |

What do you understand by economic
liberalization ? Has economic liberalization
helped in poverty alleviation in India ?

IR IIUFOT § A9 ;T GHSN T P ar

STRIh IEHTT ¥ ART F A I=ge F Fewar
&N W T 7

Critically analyse the role of media in Indian
democracy.

ﬁﬂ%ﬂ%ﬁmw&wﬁ%ﬁ?ﬁﬁﬂ@mﬁﬂ
Ui FHifvTa |

Write short notes on any two of the
following :

frefafeaa & & fodl & w it feogeft
ffgg |
(a) E-Governance
S-S
(b) Competition Commission of India

AR Sfceqaf erEeT

3 =P T,
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(c) Civil Society
AR FHST
(d) Media and Demncracy

4 1500



[This question paper contains 4 printed pages.]

Your Roll No...............
Sr. No. of Question Paper : 4964 | HC
Unique Paper Code : 62327601
Name of the Paper : Understanding Globalisation
Name of the Course : B.A. (Prog.) Political Science

CBCS - DSE

Semester : VI
Duration : 3 Hours Maximum Marks : 75
Y ;3 uve it ;75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt any four questions.
All questions carry equal marks.

4, Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

o o FEw

1. 28 - & few @ o Ry e il s o o s
foiRaw |

2. TS oIk wel & IR SN |

3. @t v & IF W T

4. T UET-UF 1 I AN a1 B Tt v e ¥ §ifore, afee e
IR T WIAR TR B BT AR |

P.T.0.
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What do you understand by Globalisation? Discuss its merits

and demerits.

ATEHO ¥ AT F T B 7 TS IUET T HEQ S R
FifoT |

Examine the Economic and Technological dimension of

globalization.

A & afE 3k WA smm & wienr iR

Discuss the various challenges before the United Nations in

the era of Q_owmﬁmm:o?

SEET % g K e T Eq D o B g @
g #ifvw

Discuss the structure and function of World Trade

Organization.

Reg-=ur 93T N ¥@T IR w5 N R i

Do you agree that environment has come under
serious threat during globalization? Give reason your

answer.

4964 3 ‘

T AT 39 AR ¥ wEee 2 & dvdiewor & @R gdie
% fog MR @aw I B/ T F 7 oFw IwR # gfte
HITT |

In what ways has the globalization impacted the issues of
poverty and inequality? Discuss.

TS %zmajﬂaﬂmwmw“ﬂqmﬁ#ﬂﬁqm.mm_ﬂﬂﬁuzﬁﬂqmﬂﬂ
2?7 femm i

Analyse the nature and causes of international terrorism in
the era of globalization.

IEET B N A FEE Aawhae W HEE R IR0
fameme Ak |

Write short notes on any two of the following :

frefolae ¥ @ el @t w dftee ool forRaw
(a) Social dimension of Globalization
ATRFT H WIS IR
(b) Bio-diversty
St - Rafaeman

PUD),
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(c) Decline of nation-state
S -Uod <l Y+
(d) U.N. Security Council

HIF T WA AN ARG

(2500)



[This question paper contains 4 printed pages.]

Your Roll No...coovasennne
Sr. No. of Question Paper : 4965 HC
Unique Paper Code : 62327602
Name of the Paper : Democracy and Governance
Name of the Course . B.A. (Prog.) Pol. Sci. CBCS (DSE)
Semester '
Duration : 3 Hours Maximum Marks : 75
g ;3 A quites : 75

Instructions for Candidates

k.

Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt any four questions.
All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

ol @ forg fdw

1 wm—w%ﬁaﬁawﬁqwﬁﬁﬁ‘awmmw
ferfeg |

2. =l orR ul & 3= Ao |

3 vl uE & e w E |

4. 3@ WEA-UF 1 I AUON a1 BS Rh g wror # difo, afee wi

IR T WA TR Bl BT TR |
P.T.O,
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Define democracy Analyze Indian model of democracy.

Ahad i qRAE HIRT | Aedg & TR WEY @1 Reew
HiToTT |

Supreme Court plays the role of protector and guardian of
the Constitution. In the light of above statement evaluate

the powers of the Supreme Court.

Heled =Ty AR 1 W Ud AT S sy e @
IR FAT & Aw A Faed Ao W A w1 AT
T |

Discuss the constitutional provisions of Indian federalism.

ARAT T YOSl & Wauiee yrEuml @ w=t i |

What is public policy? Evaluate the role of experts in policy
making.
Aty w7 2 7 et e ¥ Rt o s @ e
T |

Discuss the role and functions of trade union.

3% gfem @t yRE wE wE Ao R

4965 3

Indian economy has moved from mixed economy to liberal

economy. Comment.

WA srieaeen e srferater ¥ Serad sraer & 3R
7 2 Rl wifw |

What do you understand by New Social Movement? Explain
in the light of any one -.contemporary social movement in

India.

A9 -Frioe e | Y W wWEe § 7 R e uwee
e & g ¥ Iren Ffw |

Write short notes on any two of the following :
Fafafes % @ fF=dl @ w aferg oot frfaw
(i) Role of TRAI
e @ e
(i) Demonetisation

[ELEIETUS

~3

P.T.O.
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(iii) Media and Democracy
Aifear va wrehd=

(iv) Role of NGOs in India

IRE # - N GISA SRR

(2200)



This question paper contains 4 printed pages.

Your Rall ' No. i
SI. No. of Ques. Paper: 4717 HC
Unique Paper Code : 62116904
Name of Paper : AEEC-PSY-P-05: Managing

Human Resomrces
Name of Course : B.A. (Prog) ¥sychelogy :

CBCS -SEC
Semester : VI
Duration : 3 hours -

Maximum Marks : 75

(Write your Roll No. on the top immediately
on receipt of this question paper. )

(39 %¥F-97 & e & W G373 i
A T G FFAS [HEd 1)

NoTe:— Answers may be written either in English or in

Hindi; but the same medium should be used
throughout the paper.

fewuit.— 57 gv997 &7 Iov FLT W ar-f‘za'»—q'?ﬁm"ﬁ'fw
o9 § AT AfeT g4t 3Tt I aregw e &
BT FET |

- Attempt all questions.
All questions carry equal marks.

Tt 3va & I e
gt TV F HF 9§

P. T.'O:
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1.

What do you understand by the term “human re-
source”? What is human resource development?

ﬁaﬁﬂﬂ@%mﬁﬁﬂﬂwmvuﬂmﬂ.ﬁﬁ
faerra =1 2 2
Or (319ga)

What are the various human resource programs which
could be implemented in the organizational setup?

fafim yoR & wWa d@9e FRiE9 "aRy S
HSTTsE Wesry ¥ o] fHu o1 g R 15

What do you mean by Strategic Human Resource
Management? Explain the comprehensive model of
Total Strategy Planning Management.

WMile "HE §EEA & A 3l R 2 o wHita dree
S gq & AE HisH S THIAET |

Or (3194

How different is International Human Resource

. Management from Domestic Human Resource

Management?
AP e FueA e ed, TP 9Ha GEET S6eH
¥ fFg yR fa=r 22 15
Critically examine “On-the-job techniques”.
“oaerd qEis Wi fgaeTeTe § O WHIIET |

Or (319a)

3 4717

unmﬂn »Hm—mﬂ.ﬁﬂm. munﬁ_mmﬂ its relation with mnw-‘ﬂmﬂm.

gfreror S gRaifyg Fifee ) sforeor R dieq § 3=
Hay €2 15

. Discuss in detail, interview as a selection device.

AR & 999 Y@ % ® ¥ famr 9@ ==
<A
Or (319ga)

Discuss the different psychological tests used in
industrial selection.

s =T & I Y A At e
e W ==l S | 15

. Write short notes on any three of the following:

(a) Benefits of training
(b) Characteristics of a good psychological test
(c) Off-the-job techniques

(d) Functions of an effective human resource
manager .

(e) Sensitivity training. SA-5ES
frefafied ® fewfiat fafac

fa) W¥IHT & @0 .

(b) 3T=3 HAAT- G&U A &

() "R R P.T.O.
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(d) T TE HErEE SEs % wr
(¢) Hageiierar qfear | 5+5+5
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What is counselling? Describe the qualities of an effective
counsellor. (5,10)

WS w2 7 U Wl s @ IO 6 aui &

OR

Discuss the goals of counselling. Describe Counselling in
an Indian context. (8,7)

WY ® AEd W ouEl &R | YR e N wiEdfe = a9
e’ |

Describe the process of relationship building in Counselling.

(15)
Y A day R S ufEr @ aofe S56E
OR

Discuss the Counselor skills in the understanding and action
phases of Counselling. ‘ (15)

TWRE H G AR FRAE B WOl A HISEeR Wi 9 o
|

Describe Person Centred approach to counselling. (15)

Tl @ Ry wfe SR gRew w1 v

4966 3

OR

Describe the techniques used in behavioural Counselling.
(15)
HAEIRE FSACT F o dereiianl &1 qui e |

What is significance of career counselling? Describe any

two theories of career counselling. (6,9)

AR e = T e 27 AR wEdki @ B @ R
T T SR |

OR

Discuss the procedure involved in Family Counselling.

(15)
URER e § Wi wfhar Wl o

Write short notes on any H.So of the following: (7.5,7.5)
i & BFd o @ & R o afR
(a) Personal qualities of a counsellor
Teh G & i o
(b) Yoga and Meditation

T 3R e
P.T.O.
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(c) Crisis Intervention
Hehe BEEY
(d) Initial Interviews

YRS aTeeeh
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Attempt any four questions.

All questions carry equal marks.

fFl =T gvEl & SW gl
T g B o §EH T
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In the light of the formalist-substantivist debate, examine the
relationship of economy and society.

S -TaeT aRfaEE & wE #§, sisforaeer qo
TS % gEdl w1 wiee s

How does Sahlins analyze the domestic mode of

production ?

el =R IR TSfd # fhw ver favemer s
€ 2
Write an essay on the prevailing patterns of cross cultural

consumption.

3<: RHITH ST & yeEfam gRmE ) uw ey
ferfierm |

Discuss the theories of economic development.

afds fowma & fagidl w e wh

Show with examples how McDonaldisation has become a

dominant model in modem society.

MY Toe ' H oSS W% Yae 99 59
TER S T ¥, WO gRI awied|

C 39 4845

Write short notes on any swo of the following :

(@) Peasant society

(b) Capitalism

(e)  Socialism.

frefafea 4 @ sl §t w wfera feafoet fafay .
(%) F9F FES

(@) gsitare

(1) HHSER |



